
 

Indian School Sohar 

Class: I 

Sub: Mathematics 

Evaluation Test - III (2023-24) 

************************************************************************** 

 

 

 

 

  

************************************************************************** 

Name: ___________________ Class & Sec: _______ Date: 16.01.2024   Roll No: ______ 

************************************************************************** 

                                (This question paper consists of 4 printed pages.) 

**************************************************************************  

       I. How long is each object?                                                                      (½ × 2 = 1 mark)                                                                          

         a.  

 

 

                 

 

                 The pencil is about      squares long. 

         b.  

 

 

                 The fork is about     crayons long.  

       II. Solve mentally:                                                                                   (½ × 5 = 2½ marks) 

a. Write the number formed with 6 tens and 8 ones. 

b. The number between 98 and 100 is 

c. 67 + 6 =                                                                                                                                                                                              

d. 50 =                      tens 

e. 32 – 3 =                                                                                                                                                                                              
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       III. Add:               (½ × 2 = 1 mark) 

 

 

 

      

 

      IV. One tub can hold 2 buckets of water. Colour the buckets needed to fill these 

tubs.                                                                                                              

                                                                                                                     (½ × 2 = 1 mark)        

                 

         

 

 

 

 

 

        V. Rearrange in descending order:                                                        (½ × 2 = 1 mark)        

 

a.                                                               

 

                b. 

 

 

        VI. Write the numbers shown by the given abacus:                             (½ × 2 = 1 mark)        

      

            a. 

                                                          

 

 

 

 

 

 

 

 

 

 

 

a.  7 2  b.  4 3        

  1 7    5 0   

           

a. 

b. 

      45     54     55     44                                                  

      70     69     100     6                                                  
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 T     O 

 



 

     

     

     VII. Write H for the heaviest animal and L for the lightest animal:     (½ × 4 = 2 marks) 

 

           

     VIII. Subtract:                  (½ × 2 = 1 mark) 

 

 

 

 

 

      

      IX. Put the correct sign <,  >  or  =  in the box:                                     (½ × 6 = 3 marks) 

 

 

  

    

       X. How many? Count the soft balls and write the number name:         (½ × 2 = 1 mark)   

       XI. Solve:               (½ × 3 = 1½  marks) 

 

 

 

 

a. 

b. 

a.  4 9  b.  8 0        

  3 6    5 0   

           

 

a.    87                  78          b.    10                 100       c.   54                  54   

 

     d.     43                  60          e.    32                 32          f.   81                   79 

 

  

a.  6 7  b.  3 5 

  4 1    6 2 

         

c.  9 9 

  9 8 

    

  
 

 

 
 

 a. 

b.  
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       XII. Write the number that comes       (½ × 3 = 1½  marks)        

                    before                                    between                                   after                           

  80                       51                 53                      96 

            

       XIII. Word problems:                                                                           (1 × 2 = 2 marks)         

a. During the weekend, Tina and her mother decide to make a garden. If they plant                   

33 plants on Friday and 40 plants on Saturday, how many plants do they plant           

together?            

 

                                                                       

                                                                 

      Answer:   _______ plants 

 

 

 

b.  There are 82 books in a popular book series. If Rahul reads 71 books from the          

series, how many books are yet to be read?  

      

     

 

         Answer:   _______ books  

                               

       XIV. How much does it weigh?                                                             (½ × 1 = ½ mark)        

 

            

 

 

 

                         One lamp weighs as much as                apples. 
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